
©C B2J071L7J aKeuTtJa5 CSXoXfnt7wJaXr9en ULMLICW.C Q 1AElVlf Oriiygih6tpsF jrke7s1eorAvQemdN.4 4 qMxardOez iwpitt4hZ 0I CnkfKiznriItyeH 0AFlmg8ehbPrKa7 21V.S Worksheet by Kuta Software LLC

Math 4SN
ID: 1

Name___________________________________

©V m2C0F1Y7M hKFuhtxar MSeoNfNtAwPaHrZeP dLULoC7.3 p NAMlRl S Kr0i IgThDtvsZ Irkenspeprtv6eCd4.g
Solving Systems of Linear Equations

Solve each system using the most appropriate method.
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Answers to Solving Systems of Linear Equations (ID: 1)

1)  (−2, 5) 2)  (−1, 8) 3)  (−1, −6) 4)  (1, 7)
5)  (−1, 1) 6)  (3, 3) 7)  (3, 0) 8)  (−1, 1)
9)  (2, −3) 10)  (−6, 1) 11)  (4, 2) 12)  (−5, 8)
13)  (1, −4) 14)  (4, 7) 15)  (1, −3) 16)  (−2, −5)
17)  (−3, 2) 18)  (0, −3) 19)  (1, −1) 20)  (0, −4)
21)  (2, −4) 22)  (−1, −2) 23)  (−5, 0) 24)  (2, 3)
25)  (−1, 0) 26)  (2, −2) 27)  (3, −5) 28)  (−1, −5)
29)  (−8, 5) 30)  (−4, −2) 31)  (0, −2) 32)  (−6, 10)
33)  (6, 4) 34)  (2, 4) 35)  (1, 7) 36)  (0, 5)


